Gi-Mé-lesson 27

Read the word problem.

Draw a tape diagram.or double tape diagram and lzbel.
‘Write a niimber sentence and a statement that matches the story.

1. Some children were playing in the gym. 5 children came to join, and now there are 14 children. How
many children weré in the gym in the beginning?

This problem feels tricky because | don't know
how many children were playing at first.
That’s my unknown! It helps wheri | read one
sentence at a time and draw.

i4—-5= 8

G chifdren were in the gym In the beginning.

My drawing shows that | know the whole and
one part. | can use subtraction to find out
how many children were playing in the
beginning. Or, | could have used addition to
solve: ___+5=14.

2. Peter biked for 11 minutes. Belle biked for 7 minutes. How much shorter in time was Belle's bike ride?

i1

T+

4

= 11

Relle’s bike rive wus 4 minutes shorter,

Since | am comparing this.time, | draw a
double tape diagram. Since Peter biked for
more minutes, his tape is longer than
Belle’s. 1 can use addition to solve for the
missing part;, which is 4 minutes;

Share and tritique peer strategies far solving groblems of varied types.
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